HALLOWEEN CODEBREAKER

Use your knowledge of multiplication facts for the 2, 5 and 10
times table to find the answer to this spooky joke.

% Why did the skeleton miss the party?

Letter

Number

Fact 2 X5 3 x 10 7X5 | 4x2]| 2X6 1l x5 6 X5

Letter

Number

Fact 4 X5 | 2x15 2X10 | 2x4 | 10x6
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Letter

Number

Fact

5x5

5x 8

5x 2

10 x 4

6 x 10

2 X8

Letter

Number

Fact

2 X9

4 x 10

2 x 7

8 x5

Letter l

Number

Fact 5xXx10 | 2x2]|19%x2]|5x4

Answer:
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HALLOWEEN CODEBREAKER

Use your knowledge of multiplication facts for the 2, 5 and 10
times table to find the answer to this spooky joke.

% Why did the skeleton miss the party?

Letter B E C A ) S E

Number 10 30 35 8 12 ) 30

Fact 2 X5 3 x 10 7X5 | 4x2]| 2X6 1l x5 6 X5

¥
Letter H E H A D
Number | 20 30 20 8 60
Fact 4 X5 2 X 15 2 X 10 2 X4 10 x 6
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Letter N @] B @] D Y

Number 25 40 10 40 60 16

Fact S5X5|5x8 5 X2 l0x4 | 6x10 | 2X8

( Letter T 0 G o)
Number 18 40 14 40
Fact 2xXx9 1| 4 x10 2 x 7 8 x5
Letter w | T H I
Number 50 4 18 20
£
Fact 5x10 | 2x2|9x2]|5x4

Answer:

Because he had nobody to go with!
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